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GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
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SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:
1) The backbone of Indian economy is

RN 3rdegaear i g &

1) Industry

%VAgriculture

M

3) Export
IGRIG]

4) Services
Harw
2) Regulating body of rural Finance in India

AT & arAoT 3a &1 RfEaas @Aerr

1) RBI

V NABARD

ATeTS
3) RRB

& AT d
4) Cooperative bank

HEHRT deh

3) Father of green revolution in India:



T FHgRd #ifad & Sk &
1) William gadd
i
Norman E. Borlaug
AT . SR
3) Verghese Kurien

Gt CaEE Gl

2

4) M.S Swaminathan
UH.TH EHATIA

4) Which one of the following is not an element of sustainable agriculture?
frT & @ Pl Furoly S #1 dea 781 g
1) Environmental protection
qTET FET

2) Economic profitability

3nfdsemaraear

3) Social and economic equality

grAfoe 3 3fe @ATear
Metigious equality
enffie FHdT

5)Green Revolution was started at
QRGEAIRERNREIDRER]

1) 1963-64

1966-67
3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 Faas a Fg sad & Aar?

M\!heat



2) gFI':Ece
Oidel

3) Tea
I

4) Oilseeds

forerget

7)Full form of APP
APP T Pol Hle

1) Agricultural price policy
FN Hqeg Afa

2) agriculture price program

FN Hod HRAHA

3) audio price policy

ifsar Hem Afa
Mlofthem
3T T &I

8) What are the measures to solve the problem of food security?

&

LCIER2ES 08

.~ 2

1) save food movement
Qe Hiareled Hr FaTHT

2) developing rural industries
AT IS FT fdhrE

3) increase production

# gefar =Y
V all of these

q gl
9) What does food security means?

Tl GIETh! FIT HAdold &7



1) availability of food
ST HT IYeTsHdr

2) accessibility of food
st Fr ':I§TI

3) availability and accessibility of food to all at all times
B TAT ISt BT et AR aga

yAvailability, accessibility, affordability of food to all at the times.

B WHY ISt HT STeetd], Tgd, HHL|

10) Consider the following statement and identify the right
RFfafRd $Ue W RO FY 3 a8 & ggae w

1.The APP aims at providing assured price to the farmers.
v T 3eged fRuEl F gARad #Aed Ye FeT g

i) It aims at inducing farmers to bring in their surplus produced to the market.

SHHT 3aced fhamEl & IR H Icuifad 3o AT 7 o & foav aRa = 8l

1) | only
hddl |
2) Il only

Vo

4) None of these
IS
11) When was the World Trade Organization established?

ﬁﬁawwaﬁrmmgéaﬁ?

Vlanuary 1995

1 S=1adl, 1995
2) 10 October 1995
10 3ergaX 1995



3) December 12, 1995

12 feEsx, 1995
4) 6 May 1995
6 #1995

12) What has the World Trade Organization managed in the field of agriculture?
faea eaaR Eoree of Feur & T A Far veue fRar §?

1) Quantitative restrictions on imports have been removed.

T W AECHS Sfaayger I

2) The policy of liberalization in agriculture is adopted
F # 3giiEor # Hfad e §
3) Subsidies have been removed from the agricultural sector
FierT & afewdr @ gerar
All appropriate.
ELReaEl
13) Agricultural marketing refers to the produce produced by farmers

Y fauorer & e F9H G@RT I It

1) order of objects.
TEGHT & HA A B
2) 4 sale of goods.
a3t & fasha & B
3) Both 1 AND 2
gt 1 AND 2 g
4) NONE OF THEM
EZEEIRR]
14) Which of the following tasks is not included under agricultural marketing?

Y fauore & e Fefaf@a & @ #ia - aeedafFataa 78 8

yAggregation of agricultural produce.
FY IUSTRTHARIT|



2) Division of agricultural commodities.
HIY aEGIHT 1 TIeTStet |

3) The study of agricultural commodities.
S aEgHT @ faegrg=|

4) neither of the above.

IRFT H F P T80

15) The first Government Marketing Committee was established in India?

W#mawrﬁﬁwmrﬁﬁaﬁrmmgézﬁ?

1) In 1913
1913 &
2) In 1947
1947 #
In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
i faqoureraaeT ¢t 8

1) Integrating agricultural produce.
P 3T FI UfhdT HIAT|

2) Certification of agricultural produce.
F 39T FHT FATONHIOT|

3) Use of good quality food by the farmers.
e fohedsh Wiehlell ST FYh! GaRT 3T
To bring agricultural produce to the market.

I 3T FI AVSIAH T
17)Which one of the following crops is not cultivated under dry land farming ?

ferfaf@a & & fha e & @t s A & Wt & T g1 i S g7



VRagi

Tl

2) Groundnut
TR

3) Jowar
vdR

4) Sugarcane

el
18) Public Distribution system is associated with
Arasifae faawor gomel & |1y ST g3 §

1) fair price shops
3T Hqeg & g

V Co-Cooperative stores
TE-TEHNT SR

3) super bazar
A&

2

4) None of the above
SRIFAHAPISAGT
19) Which of the following can be used to overcome unemployment?

AR ¥ e & fov fefaf@a & @ ®la @ syerirdst ahd 872

1) Special Employment Program.
oy (oo R |
2) Population control.
el HEITATAT|
3) Development of Small and Rural Industries.

o Td JrAT Ieerh A

M\!I of the above.

390Fd G|



20) Disguised unemployed in the agricultural sector of India exists due to the

e N THITGeeTa ST PFRUTHISCE

c o

1) dependence of agriculture on monsoons
AAYT T H $ir fAsRar
2) abolition of zamindari

STHGRIZwHoTT

o

3) heavy pressure of population on land
HA N STTaear 1 ARG
all of them
3 |l &

21)Which type of unemployment is found India?
HRA #H forg g &1 ST qrg S 87
1) structural unemployment
TIATHS ST
2) seasonal unemployment
Atgdr SRy

3) Disguise unemployment.

HEHIT SR |

WAII of the above
IUFITH

22)What type of unemployment is found in agriculture sector of India?
HRA & PV & A 5y g6 i aUserdt a8 S 82
wisguised unemployment.
JeBee] SRISTIT|
2) Voluntary unemployment
wafeos sSUSIRr

3) frictional unemployment

gfatencas Sseamy



4) None of the above

3RIFT H T FIS Ad
23)ldentify the agricultural subsidy in India
AR A HIY werfdedhr Hr ggareT Y

1) fertilizer subsidy

ECICR: IDED]
2) seed subsidy

E IR RIEED]

3) Credit subsidy

HeTfaedr
All of them

5) geRHeR
24)Full form of HYV
HYV & qor &9

V/high yielding variety
AR Iqsieaarel e

2) height yielding variety
a8 3997 foheH

3) High yielding various.
3= Ygrar faffie|

4) Half yielding variety
e 3uat fafde

25) Inwhich year Public Distribution system started in India?

AR # fohe a¥ Frdsifaeh fAawor qoumel &1 % 31 §97?



1) 1 July,1979

1 Jelrs, 1979

2) 1 July,1979
1 GAFH% 1978

«)1 June ,1979
1 3+,1979

4) None of these

.
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CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:
1) The backbone of Indian economy is

RN 3rdegaear i g &

1) Industry

%VAgriculture

3) Export
IGRIG]

4) Services
Harw
2) Regulating body of rural Finance in India

AT & arAoT 3a &1 RfEaas @Aerr

1) RBI

V NABARD

ATeTS
3) RRB

& AT d
4) Cooperative bank

HEHRT deh

3) Father of green revolution in India:



T FHgRd #ifad & Sk &
1) William gadd
i
Norman E. Borlaug
AT . SR
3) Verghese Kurien

Gt CaEE Gl

2

4) M.S Swaminathan
UH.TH EHATIA

4) Which one of the following is not an element of sustainable agriculture?
frT & @ Pl Furoly S #1 dea 781 g
1) Environmental protection
qTET FET

2) Economic profitability

3nfdsemaraear

3) Social and economic equality

grAfoe 3 3fe @ATear
Metigious equality
enffie FHdT

5)Green Revolution was started at
QRGEAIRERNREIDRER]

1) 1963-64

1966-67
3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 Faas a Fg sad & Aar?

M\!heat



2) gFI':Ece
Oidel

3) Tea
I

4) Oilseeds

forerget

7)Full form of APP
APP T Pol Hle

1) Agricultural price policy
FN Hqeg Afa

2) agriculture price program

FN Hod HRAHA

3) audio price policy

ifsar Hem Afa
Mlofthem
3T T &I

8) What are the measures to solve the problem of food security?

&

LCIER2ES 08

.~ 2

1) save food movement
Qe Hiareled Hr FaTHT

2) developing rural industries
AT IS FT fdhrE

3) increase production

# gefar =Y
V all of these

q gl
9) What does food security means?

Tl GIETh! FIT HAdold &7



1) availability of food
ST HT IYeTsHdr

2) accessibility of food
st Fr ':I§TI

3) availability and accessibility of food to all at all times
B TAT ISt BT et AR aga

yAvailability, accessibility, affordability of food to all at the times.

B WHY ISt HT STeetd], Tgd, HHL|

10) Consider the following statement and identify the right
RFfafRd $Ue W RO FY 3 a8 & ggae w

1.The APP aims at providing assured price to the farmers.
v T 3eged fRuEl F gARad #Aed Ye FeT g

i) It aims at inducing farmers to bring in their surplus produced to the market.

SHHT 3aced fhamEl & IR H Icuifad 3o AT 7 o & foav aRa = 8l

1) | only
hddl |
2) Il only

Vo

4) None of these
IS
11) When was the World Trade Organization established?

ﬁﬁawwaﬁrmmgéaﬁ?

Vlanuary 1995

1 S=1adl, 1995
2) 10 October 1995
10 3ergaX 1995



3) December 12, 1995

12 feEsx, 1995
4) 6 May 1995
6 #1995

12) What has the World Trade Organization managed in the field of agriculture?
faea eaaR Eoree of Feur & T A Far veue fRar §?

1) Quantitative restrictions on imports have been removed.

T W AECHS Sfaayger I

2) The policy of liberalization in agriculture is adopted
F # 3giiEor # Hfad e §
3) Subsidies have been removed from the agricultural sector
FierT & afewdr @ gerar
All appropriate.
ELReaEl
13) Agricultural marketing refers to the produce produced by farmers

Y fauorer & e F9H G@RT I It

1) order of objects.
TEGHT & HA A B
2) 4 sale of goods.
a3t & fasha & B
3) Both 1 AND 2
gt 1 AND 2 g
4) NONE OF THEM
EZEEIRR]
14) Which of the following tasks is not included under agricultural marketing?

Y fauore & e Fefaf@a & @ #ia - aeedafFataa 78 8

yAggregation of agricultural produce.
FY IUSTRTHARIT|



2) Division of agricultural commodities.
HIY aEGIHT 1 TIeTStet |

3) The study of agricultural commodities.
S aEgHT @ faegrg=|

4) neither of the above.

IRFT H F P T80

15) The first Government Marketing Committee was established in India?

W#mawrﬁﬁwmrﬁﬁaﬁrmmgézﬁ?

1) In 1913
1913 &
2) In 1947
1947 #
In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
i faqoureraaeT ¢t 8

1) Integrating agricultural produce.
P 3T FI UfhdT HIAT|

2) Certification of agricultural produce.
F 39T FHT FATONHIOT|

3) Use of good quality food by the farmers.
e fohedsh Wiehlell ST FYh! GaRT 3T
To bring agricultural produce to the market.

I 3T FI AVSIAH T
17)Which one of the following crops is not cultivated under dry land farming ?

ferfaf@a & & fha e & @t s A & Wt & T g1 i S g7



VRagi

Tl

2) Groundnut
TR

3) Jowar
vdR

4) Sugarcane

el
18) Public Distribution system is associated with
Arasifae faawor gomel & |1y ST g3 §

1) fair price shops
3T Hqeg & g

V Co-Cooperative stores
TE-TEHNT SR

3) super bazar
A&

2

4) None of the above
SRIFAHAPISAGT
19) Which of the following can be used to overcome unemployment?

AR ¥ e & fov fefaf@a & @ ®la @ syerirdst ahd 872

1) Special Employment Program.
oy (oo R |
2) Population control.
el HEITATAT|
3) Development of Small and Rural Industries.

o Td JrAT Ieerh A

M\!I of the above.

390Fd G|



20) Disguised unemployed in the agricultural sector of India exists due to the

e N THITGeeTa ST PFRUTHISCE

c o

1) dependence of agriculture on monsoons
AAYT T H $ir fAsRar
2) abolition of zamindari

STHGRIZwHoTT

o

3) heavy pressure of population on land
HA N STTaear 1 ARG
all of them
3 |l &

21)Which type of unemployment is found India?
HRA #H forg g &1 ST qrg S 87
1) structural unemployment
TIATHS ST
2) seasonal unemployment
Atgdr SRy

3) Disguise unemployment.

HEHIT SR |

WAII of the above
IUFITH

22)What type of unemployment is found in agriculture sector of India?
HRA & PV & A 5y g6 i aUserdt a8 S 82
wisguised unemployment.
JeBee] SRISTIT|
2) Voluntary unemployment
wafeos sSUSIRr

3) frictional unemployment

gfatencas Sseamy



4) None of the above

3RIFT H T FIS Ad
23)ldentify the agricultural subsidy in India
AR A HIY werfdedhr Hr ggareT Y

1) fertilizer subsidy

ECICR: IDED]
2) seed subsidy

E IR RIEED]

3) Credit subsidy

HeTfaedr
All of them

5) geRHeR
24)Full form of HYV
HYV & qor &9

V/high yielding variety
AR Iqsieaarel e

2) height yielding variety
a8 3997 foheH

3) High yielding various.
3= Ygrar faffie|

4) Half yielding variety
e 3uat fafde

25) Inwhich year Public Distribution system started in India?

AR # fohe a¥ Frdsifaeh fAawor qoumel &1 % 31 §97?



1) 1 July,1979

1 Jelrs, 1979

2) 1 July,1979
1 GAFH% 1978

«)1 June ,1979
1 3+,1979

4) None of these

.



Guru Nanak College, Dhanbad 7. AU & ST Rigid SR -
DEPARTMENT OF ECONOMICS (a) Iaf E[@ g v (b) IO guar s

Online Mid Semester Internal Test
Saf g Fam d) g9
Semester- vi (DSE-1V 'B') 2017- 2020 (c) g (d) 579 @ lg 6t

DEMOGRAPHY 8. 3heldH SHEwEAT Rgid —
Sub: Economics Time: 45 min. Full Marks: 25x2=50 (a) 3Tt 3 e R STenRA 2, (b) 78 T URHATOTE RER E,
All questions are compulsory. (©) 78 7 R e 2 - -

1. SIifcheht *1eq AT TANT Tl fhar 2 _
9. ATeUH <l 1803 H UehTfAd i dTelt Y&deh ohl ATH g—
(a) SR TS A (b) forafRmR vV

(a) An essay on the principle of population

(c) I AR S = (d) schet
' (b) An enquiry into political justice
2. 'Population Problem' 1930 J&didh & @i@eh 56—

(c) theories of population
(a) TTheR SHTes Sit aiT (b) YIS+ U wifag

(d) None of these
(c) ferafaar V/ (d) sehet

10. 'St 99 3R SadT A fadRa deg glar g agad &
@&ay () ud (c) Y (d)deeR
11. SBepare o Rigid o1 ufdure fohar an
(@)sier  (b) A& (c) wrefareR  (d) 579 & IS T

3. 'Demography’ 2T&& fhe 9o ¥ AR ST 8 ?
(a) @l (b) i (c)Whifa= (d)38 & +ig &l V4
4, SEAT JMieheT foh at foft & favh fohar mar 82

(a) UTufie SrichaT (b)fg<aen sticreT _ _ _ o
12. SHifchehId TehHUT Rigid cht fohd ST § ST faay effen
(c)asRbaHt v (d) 378 9 I3 &I B STraT 82
5. fgfiaeh Saear siichst & Hid §- (a) wom ST/ (b) Recfrar araren
v/ (@)t fafdr (b) dsfierror &1 (c) faei fafer (d) s @ @+t (c) Teft arerear (d) = arere
6. STEREAT R # fohel SReh I ARG Sgd A BidT &- 13. USTT 3IUTd i 31 R T8 & STHT ST §—
@sFR (O)IER (o) wEray/  (d) S (a) Tft- qew U (b)R1y - Sft erqura v/

(c) aTg- I3[ 3rguTd (d)3H q I T



14. IS &t fohg A9 & TReheT Sl P § —-
(g RiRE s R (b)am= Us- &
(d) SR SR/
15. HGeR shH H fR=dT & STUE hRUT § —
(a)Sfienfiies araraRor  (b)snfefe faera
(c) e @FEIREE
16. SRATAR T TEATHYUT AiSel T Ufdare fhar —
(@) 3l (b) WY/ (c) WRH (d) 379 T oIS gl
17. 9Rd & 9Rd § oA T hH 5000 ST dTet he, ohl chgd &-

(c)pd IS &R

V@) ITHTR (b)@r (c)e (d)HETR
18. faaTg Qer TeuTE —

(a) aififes  (b) gmfoIR/ (c) Toides  (d) 398 @ i =1

19. 'efiygd o & Ioft &1l & ag e & —

(a) AT (b) ¥R hd (c) AT ASE  (d) T8 @ S

20. forft 221 & forg I SegeT —

(a) e E & (b) T gt &

(c) a 3R b = (dFEIRETE |,
21. ¥R & fohd T Y S+ & GAaH g ?

@ OFRY (O () Reh
22. YR <h! gdied A1&RdT fohd Isg & UTg STl 8 ?

(a) ufgm et (b) afet AT (cm;r (d) T

23. A3[eeh @ TG A& R WiRd | el gam g—

(a) SHEt 2002 (b) SE 2008 (c) 31f¥et 201 (d) 7€ 2005
24. MRd ¥ 39 9y yATfAd g g—

@) 60af  (b)62ad (c)64gh  (d) 65
25. ¥ ST AR i ATt i TS § 2

(a) 22 STE 2000/ (b) 30 S[ITE 2000

(c) 30 TS 2001 (d) 15 37T&a 2001

Svaje Ku maott
120361019333 BA VT

ECo'MONS ' Rall-2(2



Guru Nanak College, Dhanbad

Department of Economics
Online Mid Semester Internal Test
Semester- VI (DSE IV-A) 2017-20
ECONOMETRICS
Time: 45 min.

Sub: Economics Full Marks: 50

All questions are compulsory. 2x25=50
1. Which of the following is a Subset of Population?

(a) Distribution%ample (c) Data (d) Set.
2. The Sampling error is defined as -
(a) Difference between population and parameter.
(b) Difference between Sample and parameter.
Jljifference between Population and Sample.
(d) Difference between parameter and Sample.

3. Sampling error increase as we increase the sampling

size--
%True, (b) False

4. Fullgorm of OLS.
Ordinary least Square Method

(b) Ordinary least Statistical Method
(c)Ordinary least Sample Method
(d) Bothband c

Syent 't' test was formulate by-
) Willian sealy Gosset (b) Cari friedrick Gauss
(c) Durbin Watson (d) bothband c

6. The statistical properties of OLS estimators are-

(a) Lineartity, Unbiasedness, and Minimum Variance,

(b) Lineartity and Unbiasednesy,
(c) Unbiasedness, (%ne of these.
7. The Cluster Sampling, Stratified Sampling Or Systematic
Sampling are types of----—--—---
(a) Direct Sampling (b) Indirect Sampling
(c) Random Sampling (d) Non- Random sampling

8. The Standard deviation of the sampling distribution of
any Statigffc is called?

Sampling error (b) Type I error
(c) Non- Sampling error  (d) Standard error.
9. The Probability of a type | error is determined by -----
(@) The researcher (b) The Sample Size
(c) Botha &b M)ne of these.
10. Full Form of BLUE.
(a) Best Linear Unbiased Estimator,
(b) Best linear Unconditional Estimator,
xsic linear unconditional Estimator,

(d) Bothb & c.



11. Whatis Uj?
Error term (b) Disturbance term
(c) Both a&hb (d) None of these.
12. Method of ordinary least Squgee is attributed to ---
(a) Cari friedrick Gauss %illiam Sealy Gosset
(c) Durbin Watson (d) bothb and c

13. Standard error of an estimator is a measure of -----

(a) Population Estimator, (b) Precision of the Estimator,

(c) Bower of the Estimator
j)onfidence interval of the Estimator
14. multicollinearity is limited to —----
(a) Cross-section data (b) Tjpme series data
(c) Pooled data %Tof the above
15. Which of these distributions is used for a testing
hypothesis ?
(@) Normal distribution (b) Chi-squared distribution
Gamma distribution

(d) Possion distribution

16. In confidence interval estimation (co)= 5% this means
that thiyterval includes the true B with probability of -—-
5

%  (b)50%, (c)95%,  (d)45%

17. In regression model with Multicollinearity being very
high the estimator ?

(a) Are Unbiased (b) Are Consistent

(c) Standard error are correctly estimated MAII of above.
18. Multicollinearity is essentially a
(@) Sample Phenomenon, (b) Population phenomenon,
Both a& b, (d) None of these.
19. What is meaning of the term " Heteroscadasticity " ?
(a) The variance of the dependent variable is not constant.
(b) The variance of the error is not constant.
(c) The error not linearly independent of one another.

(d) The error have non- zero mean.

20. Suppose we want to make a voter list for the general
election 2019 then we require

(a) sampling error, (b)Random error,

(c) census, (d) simple error.
21. The mean of Autocorrelated 'U' is

(a) Equalto 1, (b) Equal to -1,
(c) Equal to 0, (d) Equal to oo,

22. Multicollinearity does not effect the Unbiasedness

property of while method.
(a) GLS method %LS method

23. We use 't' test when the Sample is

(a) Large (b) Small
(c) Greater than 30  (d) Less than 30



24. Full formofd.fis't' test?

(a) Discreate frequency (b) Degree of freedom

(c) Differential function yifference function.
a

25. Negative Residual autoco
one of the following ?

tion is indicated by which

(@) A cyclical pattern in the residual,
(b) An alternating pattern in the residual,
(c) A complete randomness in the residual,

(d) Residual is that one all close to zero.



Guru Nanak College, Dhanbad
DEPARTMENT OF ECONOMICS
Online Mid Semester Internal Test
Semester- vi (DSE-1V 'B') 2017- 2020

DEMOGRAPHY

Sub: Economics Time: 45 min. Full Marks: 25x2=50

All questions are Compulsory.
1. STIifchehT Te ST T-NT JuAH fhar ?

(a) SR TS A (b) ferenfaaR 3
Q) TAARAT e tOH
2. 'Population Problem' 1930 G & @@ 8-
(a) s S <t i B A
(c) TR (d) &
3. 'Demography’ 2T&& fhe 9o ¥ AR sAT 8 ?
(@) 3RT (b) fr ()R (e @ s =
4, SEEAT JfieheT foh at Soft & favn fohar mar 82
(a) Tmrfieh SfichgT ()&t sricmgt
(G 3R b Y (d) 37 @ I 78
5. fgdiae Smee srics! & 9l 8-
@ de R (b) dofiewur sid (c) et R (d) 37 & =
6. ST URad= # fohd ShIReh T ANTET Jgd A gidl &-

@R O)FER (o) WeRa  yelen

7. AUy o SO g id ol SR §—

M%q@ﬁm (b) It guar Faw
(c) Safa g™ fFam (d) 378 @ FIS T8

8. 3heldH SHEEAT RAgid —
SO g R ameRa 8, (b) T8 T URHTOITS REIR 2,
(c) gs vsn feR fig 8 (d) T8 Teh Tehleht WUz &,
9. ATeUH <l 1803 H UehTfAd i dTelt Y&deh ohl ATH g—
(a) An essay on the principle of population
(b) An enquiry into political justice
(c) theories of population

mof these

10. 'St 99 3R SadT A fadRa ddg glar g agad &

(a) B A (c) et (d)seR
11. SBepare o Rigid o1 ufdure fohar an

@FA  (b) A (c) Fef AR @I @ i T
12. SHifchehld TehAoT Rigid i fohg sraeer & St faem e

gl ST 8?2
(a) STor SreRen ) Recar vt
(c) gt arerT (d) =qef arerRT
13. IS 30T ht 31 fohd 18 & ST STTaT 8—
(a) St - gey srguTa (b)fRr3 - St srgaTd
(c) - fRiy rgurar bl



14. IS &t fohg A9 & TReheT Sl P § —- 23.ﬁ§ﬁﬁaaﬁaﬁfﬂmaﬂaﬁ‘zﬂw§3ﬂ%—

(a)emgRARE ST R ST (a) SFE$ 2002 (b) S 2008 2010 (d) &€ 2005
(C)pet IS & (d) USTH SUTd 24, YRd ¥ 39 999 YA1fAd 31g g—

15. TegaR 25 & e % S e - (@)60as  (b)62a¥ (c)6aad «@PEEEY
(a)3iteifiies arereRor  (b)sifies Rem 25, ITEVa SRIRET STENT B T B T & 2

L LKl (d)57 @ S 78 ﬁ@ 2000 (b) 30 STE 2000

16. SRATAR T TEATHYUT AiSel T Ufdare fhar — (c) 30 18 2001 (d) 15 3FTRd 2001

(a) e (b) WM (c) TS ey 1< -7l
17. R & 9Rd § oA T 5000 ST dTet he, ohl chgd &-
(a) U™ TR (O (d)Fsr TR

18, Prrs e - shubham kumar nishad
(a) enfifes %m (c) ArsFifder  (d) 379 @ iE el .
19, o s & G Qe & g e & — eco hon sem vi

@t et (O whghe@ed rol| ng 473
20. frit 321 & forg ITeh! ST —
(a) TTer &It & (b) Gz gt &
P it (d)5T & T T
21. ¥R & fohd T &l S & GAaH g ?
@  (b)FT ()T (d) Rl
22. ¥Rd <! Gated H1&RdT fohd Isg # UTS SiTed1 € ?

(a) ufgm et (b) afet AT W(d)rﬁar




Guru Nanak College, Dhanbad
DEPARTMENT OF ECONOMICS
Online Mid Semester Internal Test
Semester- vi (DSE-1V 'B') 2017- 2020

DEMOGRAPHY

Sub: Economics Time: 45 min. Full Marks: 25x2=50

All questions are Compulsory.
1. STIifchehT Te ST T-NT JuAH fhar ?

(a) SR TS A (b) ferenfaaR 3
Q) TAARAT e tOH
2. 'Population Problem' 1930 G & @@ 8-
(a) s S <t i B A
(c) TR (d) &
3. 'Demography’ 2T&& fhe 9o ¥ AR sAT 8 ?
(@) 3RT (b) fr ()R (e @ s =
4, SEEAT JfieheT foh at Soft & favn fohar mar 82
(a) Tmrfieh SfichgT ()&t sricmgt
(G 3R b Y (d) 37 @ I 78
5. fgdiae Smee srics! & 9l 8-
@ de R (b) dofiewur sid (c) et R (d) 37 & =
6. ST URad= # fohd ShIReh T ANTET Jgd A gidl &-

@R O)FER (o) WeRa  yelen

7. AUy o SO g id ol SR §—

M%q@ﬁm (b) It guar Faw
(c) Safa g™ fFam (d) 378 @ FIS T8

8. 3heldH SHEEAT RAgid —
SO g R ameRa 8, (b) T8 T URHTOITS REIR 2,
(c) gs vsn feR fig 8 (d) T8 Teh Tehleht WUz &,
9. ATeUH <l 1803 H UehTfAd i dTelt Y&deh ohl ATH g—
(a) An essay on the principle of population
(b) An enquiry into political justice
(c) theories of population

mof these

10. 'St 99 3R SadT A fadRa ddg glar g agad &

(a) B A (c) et (d)seR
11. SBepare o Rigid o1 ufdure fohar an

@FA  (b) A (c) Fef AR @I @ i T
12. SHifchehld TehAoT Rigid i fohg sraeer & St faem e

gl ST 8?2
(a) STor SreRen ) Recar vt
(c) gt arerT (d) =qef arerRT
13. IS 30T ht 31 fohd 18 & ST STTaT 8—
(a) St - gey srguTa (b)fRr3 - St srgaTd
(c) - fRiy rgurar bl



14. IS &t fohg A9 & TReheT Sl P § —- 23.ﬁ§ﬁﬁaaﬁaﬁfﬂmaﬂaﬁ‘zﬂw§3ﬂ%—

(a)emgRARE ST R ST (a) SFE$ 2002 (b) S 2008 2010 (d) &€ 2005
(C)pet IS & (d) USTH SUTd 24, YRd ¥ 39 999 YA1fAd 31g g—

15. TegaR 25 & e % S e - (@)60as  (b)62a¥ (c)6aad «@PEEEY
(a)3iteifiies arereRor  (b)sifies Rem 25, ITEVa SRIRET STENT B T B T & 2

L LKl (d)57 @ S 78 ﬁ@ 2000 (b) 30 STE 2000

16. SRATAR T TEATHYUT AiSel T Ufdare fhar — (c) 30 18 2001 (d) 15 3FTRd 2001

(a) e (b) WM (c) TS ey 1< -7l
17. R & 9Rd § oA T 5000 ST dTet he, ohl chgd &-
(a) U™ TR (O (d)Fsr TR

18, Prrs e - shubham kumar nishad
(a) enfifes %m (c) ArsFifder  (d) 379 @ iE el .
19, o s & G Qe & g e & — eco hon sem vi

@t et (O whghe@ed rol| ng 473
20. frit 321 & forg ITeh! ST —
(a) TTer &It & (b) Gz gt &
P it (d)5T & T T
21. ¥R & fohd T &l S & GAaH g ?
@  (b)FT ()T (d) Rl
22. ¥Rd <! Gated H1&RdT fohd Isg # UTS SiTed1 € ?

(a) ufgm et (b) afet AT W(d)rﬁar




GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry

ELRICl)

2’ Agriculture
FY

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

1) RBI
ARSI
2) NABARD
TS
3 RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
29 Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

4) M.S Swaminathan
TH.TH EHIA

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &
1) Environmental protection
TR T &

2) Economic profitability

snfderermerdedr
3) Social and economic equality
arAToR AR 3w FARTAr
4P Religious equality
enfie @Fdar

5)Green Revolution was started at
Wﬁﬁ?ﬁw

1) 1963-64

@ 1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifs o fora wae & @

1) Wheat



2) Rice

o
didel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

®) Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N HT AP AT
3) increase production
3cuieed # gefTr &l
4) gall of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
49 Availability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |

2) Il only
&ad I

3 Both
G|

4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

1) 1 January 1995
1 Sfetadl, 1995

@ 10 October 1995
10 37eFga¥ 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT & FA I E
2) sale of goods.
eI & fowa @ B
3 Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1)'Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁrﬁxmgéeﬁ?

1In 1913
1913 &
2) In 1947
1947 #
3) In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3‘ Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)

2)

3)

®)

Ragi
Tl

Groundnut
Harhelr
Jowar
AR
Sugarcane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

@)

2)

3)

fair price shops

3T Hed & g
Co-Cooperative stores
HE-HghNI HESR

super bazar

JUIETSTR

S

None of the above

SN

19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1)

2)

Special Employment Program.

9w ISR FRwA|

Population control.

I FEIAIFoT|

Development of Small and Rural Industries.
oY Td AT SeFarehl A |

All of the above.

I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG

4) all of th

.) all of them
37 T I

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

® All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & $Y &F # fhy g & aUSaT a8 Sl 87

1).Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above

IRFT F J FS G
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
g HETAehr
4) All of them

9 saaTshear
24)Full form of HYV
HYV T qoT &9

® high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979

1 Jers, 1979
2) 1 July,1979

1 3errg, 1978
3) 1 June ,1979
1 51,1979

Diksha singh , roll -

225
group B .



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

AT 3rdeyaear i fg &

1) Industry

3T
2) Agriculture .
FY

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & aror 39 1 R_Rfegdaa R

1) RBI
ARSI

2) NABARD
TS

3) RRB O
& AT d%

4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
At &, axar @
3) Verghese Kurien

TR

9

4) M.S Swaminathan
TH.TH EHIA

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &
1) Environmental protection
TR T &

2) Economic profitability

snfderermerdedr
3) Social and economic equality
arAToR AR 3w FARTAr
4) Religious equality
s gaar @

5)Green Revolution was started at

aﬁaﬂﬁﬁaﬁw
1) 1963-64
2) 1966-67 @
3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

1) Wheat



i @

2) Rice
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy .
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N HT AP AT
3) increase production
3cuieed # gefTr &l
4) all of these
Tl @

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 ageT
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) Availability, accessibility, affordability of food to all at the times.
& AT HISt I ST, Tgd, A @

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |
2) Il only
&ad I

3) Both @
G

4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

1) 1 January 1995
1 SeAaT, 1995

2) 10 October 1995
10 37eFga¥ 1995



3) December 12, 1995
12 feHeX, 1995

4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
aEG3T & HA A B
2) sale of goods.
eI & fowa @ B
3) Both 1 AND 2
gt 1 AND 2 %’
4) NONE OF THEM
R feTEie |
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T | ®



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁrﬁxmgéeﬁ?

1) In 1913 @
1913 &

2) In 1947
1947 #
3) In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
ST foheAs WiedTel! &1 FUh ZarRT 3Tl
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)

2)

3)

4)

Ragi
Tl

Groundnut

HIThell

Jowar
FaAR
Sugarcane
ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

1)

2)

3)

fair price shops ’
3T Hed & g
Co-Cooperative stores
HE-HghNI HESR

super bazar

JUIETSTR

S

None of the above

SN

19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1)

2)

Special Employment Program.

9w ISR FRwA|

Population control.

I FEIAIFoT|

Development of Small and Rural Industries.
oY Td AT SeFarehl A |

All of the above.

Wied @il @



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG

4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
SRFTET @

22)What type of unemployment is found in agriculture sector of India?
AR & Y &7 H e YR & AR 918 St 872

1) Disguised unemployment.
oo s @

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

TG HETAT
4) All of them

5) REHE @

24)Full form of HYV

HYV T qoT &9

1) high yielding variety @
e 3TSIGetdrell fehed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1)

2)

1 July,1979
1 §§H§,1979
1 July,1979
1 3elts, 1978
1 June ,1979
1 51,1979

None of these



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry

ECCIY

Wriculture
FN

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

ARG # JAT 9 &1 [Afagasa [
<A
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) Willi gadd
LIE]
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

4) M.S Swaminathan
TH.TH EHIA

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &
1) Environmental protection
TR T &

2) Economic profitability

3nfsremsTvear

3) Social and economic equality

gfaes 3R s ga=ar

4) Relig’ us equality
HHAAT

5)Green Revolution was started at
aﬁaﬂﬁﬁeﬁw
1) 1963-64

Q#66-67
3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

Mheat



v

2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP

APPa:rgﬁrqv“ﬁfr

Wultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N T TIhrE LT
3) increase production

3culesT # gefr Y

w these
Ty

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 g
3) availability and accessibility of food to all at all times

atmaﬂaaaﬁrmmaﬂ?qgﬂ

waoility, accessibility, affordability of food to all at the times.
AT STl Y 3Tstdl, 9gd, AHL|

10) Consider the following statement and identify the right

fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 3603T ThamEl Al IR & 3caiigd 3o AT & ot & fow aRda & gl

1) | only
hael |
2) Il only
Hhael, |l

s
G

4) None of these
I
11) When was the World Trade Organization established?

ﬁeaw@mﬁxwwg@aﬁ?

M January 1995

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



aL

3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT W ¥ AFCHS Jideeger Gamg|
2) The policy of liberalization in agriculture is adopted
ST A SERIAIOT AT Afceh =TT §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All ap;ydﬁriate.
A F AT |

13) Agricultural marketing refers to the produce produced by farmers
S fAYU @ AT YR GaART cqTied 3Tl

Mr of objects.
TEGHT & FA I E
2) sale of goods.
eI & fowa @ B
3) Both 1 AND 2
a1 AND 2 gl
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.

P a3t @1 fFemmsr|

wstudy of agricultural commodities.

S a3 T g

C

4) neither of the above.
3WeFd H ¥ g el
15) The first Government Marketing Committee was established in India?

Wﬁqmwﬂﬁtmmﬁﬁr@rwgézﬁ?

Mms

1913 &
2) In 1947
1947 #
3) In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g
wating agricultural produce.

H 39T H Thcd T

I 2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.
P 39T F AVSIASH T

° 17)Which one of the following crops is not cultivated under dry land farming ?

. fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi
e

Wnut
Harhelr

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with
HdSHfereh FaeRoT Jomel & & ST g3 ¥

1) fair gfice shops

A H g
2) Co-Cooperative stores
HE-HghNI HESR
3) super bazar
JUIETSTR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1) Special Employment Program.

Y TSR i |
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.

oY Td AT SeFarehl A |

4) All of #he above.
|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) depgfence of agriculture on monsoons
%:\ W H HT fsear

2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG

4) all of them
3o T

21)Which type of unemployment is found India?
Rd H g IR T SRISEIRT 918 ST 87
1) structural unemployment
TAATCHS SRISTITRT
2) seasonal unemployment
AtgHAr RISTRY

3) Disguise unemployment.

Hehrd SIS |

All o e above
?@ﬁr

22)What type of unemployment is found in agriculture sector of India?
AR & $Y &F # fhy g & aUSaT a8 Sl 87

1) Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



W above
IRFT H T HIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
g HETAehr

4) All of t
9)

24)Full form of HYV

HYV T qoT &9

M yielding variety

e IqeeAdTell fohed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979

1 Jers, 1979
2) 1 July,1979

1 3elts, 1978
3) 1 June ,1979
1 51,1979

4) Nonegf these



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry

ECCIY

2) ;
%e

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

RBI
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

Waminathan

TH.TH TATH AT

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &
1) Environmental protection
TR T &

2) Economic profitability

snfderermerdedr
3) Sogig@l and economic equality
3R 3nfde FAETETar
4) Religious equality
enfie @Fdar

5)Green Revolution was started at
RGEIREINREIREER]]

1) 1963-64

;]

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifs o fora wae & @

1) Wheat



W

2) Rice
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP

APPa:rgﬁrqv“ﬁfr

Mltural price policy
¥ o A

2) agriculture price program
FV 7o FTH

3) audio price policy
Hifsar qear Nfa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT T &7 faehrE el
ease production
3culesT # gefr Y
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) Avajility, accessibility, affordability of food to all at the times.
AT MSTeT T 3ITeTsdr, q_é:u, ey |

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 3603T ThamEl Al IR & 3caiigd 3o AT & ot & fow aRda & gl

1) |
I
2) Il only
&ad I
3) Both
G|

4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

1) 1 Jag#ary 1995
, 1995

2) 10 October 1995
10 37eFga¥ 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT F FA F

2) sale of goods.

R % e

3) Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
BMdy of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwﬂﬁtmmﬁﬁr@rwgézﬁ?

1) In 1913

1913 #
2) In 1947 (
1947 #

3) In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
T THS Giedleall 1 FHYH! SaRT 39T

4) bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi
el
2) Groundnut

et

3) Jowar
AR

4) Sugarcane
ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

1) dr price shops

3T Hed & g

2) Co-Cooperative stores
HE-HghNI HESR

3) super bazar
JUIETSTR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1) Special Employment Program.

Y TSR i |
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.
oY Td AT SeFarehl A |
4) All gpthe above.
i



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) deggndence of agriculture on monsoons
AH\ W H HT fsear

2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG

4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) s al unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & $iF &7 H fhd YR & SASERT 91 S 872

sguised unemployment.
JoBesl SRISTITRT|
2) Voluntary unemployment
wfeos aUSI
3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

TG HETAT
4) All of them
5) ST

24)Full form of HYV
HYV T qoT &9

1) high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
>a18 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1)

2)

1 July,1979
1 Tg?»l‘lé’ 1979
1 July,1979
1 3elts, 1978
1 June ,1979
1 51,1979

None of the

"




GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:
1) The backbone of Indian economy is

AT 3rdeyaear i fg &

1) Industry

3T
‘) Agriculture
Y

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

1) RBI
ARSI
2) NABARD
TS
9 RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2)'Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

4) M.S Swaminathan
TH.TH EHIA

4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2
1) Environmental protection
TR T &
2) Economic profitability

3nfiwemsTsear
3) Social and economic equality
aASE 3R 3nfAE AT
®_ . :
4) Religious equality
enfie gHar

5)Green Revolution was started at
Wﬁﬁ?ﬁw

1) 1963-64

@) 1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifs o fora wae & @

1) Wheat



% Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

@) Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N HT AP AT
3) increase production
3cuieed # gefTr &l
@ all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) %vailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |

2) Il only
&ad I

@ Both
G|

4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

1) 1 January 1995
1 SeAaT, 1995

.2) 10 October 1995
10 37eFga¥ 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
@) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT & FA I E
2) sale of goods.
eI & fowa @ B
3y Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

@!) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁrﬁxmgéeﬁ?

" In 1913
1913 #
2) In 1947
1947 #
3) In 1951
19513
4) In 1931
1931 #

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)

2)

3)

¢

Ragi
Tl

Groundnut
Harhelr
Jowar
AR
Sugarcane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

o)

2)

3)

fair price shops

3T Hed & g
Co-Cooperative stores
HE-HghNI HESR

super bazar

JUIETSTR

S

None of the above

SN

19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1)

2)

3)

Special Employment Program.

Y TSR i |

Population control.

Il HEITATFT|

Development of Small and Rural Industries.

oY Td AT SeFarehl A |

4‘ All of the above.

3WITFd T



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
° A W TAHEIT T ARG
4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

®) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & $Y &F # fhy g & aUSaT a8 Sl 87

1).Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

TG HETAT
4) All of them

D SR
24)Full form of HYV
HYV T qoT &9

1® high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979

1 Jers, 1979
2) 1 July,1979

1 3elts, 1978
3) 1 June ,1979
1 51,1979

4) None of these

"

Diksha singh, 225,
B



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

AT 3rdeyaear i fg &

1) Industry

EECIY

wgriculture
C

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & aror 39 1 R_Rfegdaa R

\Mal
RIS

2) NABARD

TS
3) RRB

& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

M/I.S Swaminathan

TH.TH T

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &

1) Environmental protection
TR T &
2) Economic profitability

3nfdwameTvear

wocial and economic equality
AT AR e AT

4) Religious equality
enfie @Fdar

5)Green Revolution was started at
aﬁamﬁﬁagamﬁaﬁ
1963-64
2) 1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

\Mwat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) icultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

GIETGRETRHATITRIG cTehleich T UFITUIG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
3t T faehrE e
3) #icrease production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st i vga
3) availability and accessibility of food to all at all times

& HAY &ieied BT ITelstdr 3R Iga
Mailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right

fArafaf@a o W TR & 3R F@@r T ggarT H

1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |
2) Il only
&ad I

Mth
GG

4) None of these
e
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7
wnuary 1995
1 Sfetadl, 1995

2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

Wuantitative restrictions on imports have been removed.
AT W ¥ AACHS Tiaeeger eI

2) The policy of liberalization in agriculture is adopted
ST A SERIAIOT AT Afceh =TT §

3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g

4) All appropriate.
SUgFAHST|

13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.

aEG3T & HA A B
wale of goods.
a3t & fawT @ B
3) Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.

P a3t @1 fFemmsr|

3) e study of agricultural commodities.
S a3 T g

4) neither of the above.
3WeFd H ¥ g el
15) The first Government Marketing Committee was established in India?

Wﬁmw@ﬁtmmﬁﬁraﬁrmmgéaﬁ?

1) In 1913

1913 &
\/m 1947
1947 #

3) In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
fhEHs WieATeal & FHVH arT 39T
0 bring agricultural produce to the market.

asfﬁrma#méiﬁqgmml

C

17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi

Groundnut
HIThell

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

\/fair price shops

3T Hed & g

2) Co-Cooperative stores
HE-HghNI HESR

3) super bazar
JUIETSTR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o [T fe=faf@d & @ @l & STAeTihdst dhd 72

1) Special Employment Program.

9w ISR FRwA|
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.
§ Ud IrHIoT 3eglTen faeh |
All of the above.
I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N THT BT s T hehRUTHISIEE

1)#dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W STAEEAT H ARG

4) all of them
3o T

21)Which type of unemployment is found India?
R # 5T 9R T SRUSERT 918 SATdr 872
1) structural unemployment

TITATCHS SRISTATRT

\/seasonal unemployment
HFAT SOy
3) Disguise unemployment.
$CehTd SRISTITRT |
4) All of the above

ERRIETRE )
22)What type of unemployment is found in agriculture sector of India?

AR & $Y &F # fhy g & aUSaT a8 Sl 87

wisguised unemployment.
ol SIS |

UTSeol

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
g HETAehr

\/AII of them
5) sARTR

24)Full form of HYV
HYV T qoT &9

1) high yielding variety

e 3TSIGetdrell fehed
v‘neight yielding variety

a1 3ueT fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979

1 Jers, 1979
2) 1 July,1979

1 3elts, 1978
3) 1 June ,1979
1 51,1979

4) ne of these
RIS

Deepak kumar
tanti

Roll no.- 497
Eco (hon)



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry

3T
2) Agriculture
- o

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & aror 39 1 R_Rfegdaa R

1) RBI
ARSI
W
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

Waminathan
UH.TH ETHIATST

4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2
1) Environmental protection
TR T &
2) Economic profitability
nfSewemergear

3) Social and economic equality
arAToR AR 3w FARTAr
4) Religious equality
enfie @Fdar

5)Green Revolution was started at
aﬁamﬁﬁagamgéaﬁ

1) 1963-64

2) #0567

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

eat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy
FY 7o Afa

SLAmBgimminge price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
Mping rural industries
AT 3N HT AP AT
3) increase production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 ager
3my and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) Availability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
MPP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1),@?

hael |
2) Il only

&ad I
3) Both

G|

4) None of these
I

11) When was the World Trade Organization established?

ﬁaaw@maﬁwaﬂmwg&%ﬂ?

mnuary 1995

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

HAT W § AFCHS ufdewger G|

2) The policy of liberalization in agriculture is adopted

Py AT Alfceh YA &
iIdies have been removed from the agricultural sector

FheT & afewdr #1 gerfar
4) All appropriate.
SUgFAHST|

13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.

aE3T & el
of goods.

T3t & fawa @
3) Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

freeNTEe |
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

w agricultural produce.
HY 3TSTRTThATHIIT|




2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁraﬁrmmgéeﬁ?

1) In 1913
1913 &
47

1947 &

3) In 1951
19513

4) In 1931
1931 &

16)Agriculture is not a part of marketing.

Y faqureraaRT &7 8

W agricultural produce.

H 39T H Thcd T

2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|

3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|

4) To bring agricultural produce to the market.
P 39T F AVSIASH T

17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)
e

2) Groundnut
FHaTRT

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with
AraifAs faaor gumel & A SISt g3 §

1) fair price shops

3T gou i
perative stores

HE-TgPRT 3R
3) super bazar
LI SREISIRY

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o [T fe=faf@d & @ @l & STAeTihdst dhd 72

1) Special Employment Program.

Y VSR FRIHA|
2) Population control.
KGRI NGRE

3) Development of Small and Rural Industries.




20) Disguised unemployed in the agricultural sector of India exists due to the

HR A NETTHATTOeoTs ISR HhPRUTHISGE

1) dependence of agriculture on monsoons
AT W HN AT AR

2) abolition of zamindari

STHIGRIB#H T

3) heavy pressure of population on land
A W STAEE F ARG

4 m
37 T I

21)Which type of unemployment is found India?
HRA # 5T R AT RS 918 ST 872

1) structural unemployment
HXIATHS SIS

2) al unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?

W‘a JhR FI SUSERT 915 SATr g2
Disguised unemployment.

JTBesl SRISTITRT|

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above

IRFT F J FS G
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
g HETAehr
4) All of them

B mmanalidl

24)Full form of HYV
HYV T qoT &9

1) high yielding variety
3+ 3TscAarer e
2) height yielding variety

.
gh yielding various.

3o Yerar faffeT|
4) Half yielding variety
3T 3997 faffiest

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



M
1 s, 1979
2) 1 July,1979
1 3elts, 1978
3) 1 June ,1979
1 31,1979

4) None of these

"



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:
1) The backbone of Indian economy is

AT 3rdeyaear i fg &

1) Industry

3T
‘) Agriculture
Y

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

1) RBI
ARSI
2) NABARD
TS
9 RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2)'Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

4) M.S Swaminathan
TH.TH EHIA

4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2
1) Environmental protection
TR T &
2) Economic profitability

3nfiwemsTsear
3) Social and economic equality
aASE 3R 3nfAE AT
®_ . :
4) Religious equality
enfie gHar

5)Green Revolution was started at
Wﬁﬁ?ﬁw

1) 1963-64

@) 1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifs o fora wae & @

1) Wheat



% Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

@) Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N HT AP AT
3) increase production
3cuieed # gefTr &l
@ all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) %vailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |

2) Il only
&ad I

@ Both
G|

4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

1) 1 January 1995
1 SeAaT, 1995

.2) 10 October 1995
10 37eFga¥ 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
@) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT & FA I E
2) sale of goods.
eI & fowa @ B
3y Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

@!) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁrﬁxmgéeﬁ?

" In 1913
1913 #
2) In 1947
1947 #
3) In 1951
19513
4) In 1931
1931 #

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)

2)

3)

¢

Ragi
Tl

Groundnut
Harhelr
Jowar
AR
Sugarcane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

o)

2)

3)

fair price shops

3T Hed & g
Co-Cooperative stores
HE-HghNI HESR

super bazar

JUIETSTR

S

None of the above

SN

19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1)

2)

3)

Special Employment Program.

Y TSR i |

Population control.

Il HEITATFT|

Development of Small and Rural Industries.

oY Td AT SeFarehl A |

4‘ All of the above.

3WITFd T



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
° A W TAHEIT T ARG
4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

®) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & $Y &F # fhy g & aUSaT a8 Sl 87

1).Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

TG HETAT
4) All of them

D SR
24)Full form of HYV
HYV T qoT &9

1® high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979

1 Jers, 1979
2) 1 July,1979

1 3elts, 1978
3) 1 June ,1979
1 51,1979

4) None of these

"

Diksha singh, 225,
B



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

AT 3rdeyaear i fg &

1) Industry

EECIY

wgriculture
C

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & aror 39 1 R_Rfegdaa R

\Mal
RIS

2) NABARD

TS
3) RRB

& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

M/I.S Swaminathan

TH.TH T

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &

1) Environmental protection
TR T &
2) Economic profitability

3nfdwameTvear

wocial and economic equality
AT AR e AT

4) Religious equality
enfie @Fdar

5)Green Revolution was started at
aﬁamﬁﬁagamﬁaﬁ
1963-64
2) 1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

\Mwat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) icultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

GIETGRETRHATITRIG cTehleich T UFITUIG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
3t T faehrE e
3) #icrease production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st i vga
3) availability and accessibility of food to all at all times

& HAY &ieied BT ITelstdr 3R Iga
Mailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right

fArafaf@a o W TR & 3R F@@r T ggarT H

1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |
2) Il only
&ad I

Mth
GG

4) None of these
e
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7
wnuary 1995
1 Sfetadl, 1995

2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

Wuantitative restrictions on imports have been removed.
AT W ¥ AACHS Tiaeeger eI

2) The policy of liberalization in agriculture is adopted
ST A SERIAIOT AT Afceh =TT §

3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g

4) All appropriate.
SUgFAHST|

13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.

aEG3T & HA A B
wale of goods.
a3t & fawT @ B
3) Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.

P a3t @1 fFemmsr|

3) e study of agricultural commodities.
S a3 T g

4) neither of the above.
3WeFd H ¥ g el
15) The first Government Marketing Committee was established in India?

Wﬁmw@ﬁtmmﬁﬁraﬁrmmgéaﬁ?

1) In 1913

1913 &
\/m 1947
1947 #

3) In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
fhEHs WieATeal & FHVH arT 39T
0 bring agricultural produce to the market.

asfﬁrma#méiﬁqgmml

C

17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi

Groundnut
HIThell

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

\/fair price shops

3T Hed & g

2) Co-Cooperative stores
HE-HghNI HESR

3) super bazar
JUIETSTR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o [T fe=faf@d & @ @l & STAeTihdst dhd 72

1) Special Employment Program.

9w ISR FRwA|
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.
§ Ud IrHIoT 3eglTen faeh |
All of the above.
I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N THT BT s T hehRUTHISIEE

1)#dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W STAEEAT H ARG

4) all of them
3o T

21)Which type of unemployment is found India?
R # 5T 9R T SRUSERT 918 SATdr 872
1) structural unemployment

TITATCHS SRISTATRT

\/seasonal unemployment
HFAT SOy
3) Disguise unemployment.
$CehTd SRISTITRT |
4) All of the above

ERRIETRE )
22)What type of unemployment is found in agriculture sector of India?

AR & $Y &F # fhy g & aUSaT a8 Sl 87

wisguised unemployment.
ol SIS |

UTSeol

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
g HETAehr

\/AII of them
5) sARTR

24)Full form of HYV
HYV T qoT &9

1) high yielding variety

e 3TSIGetdrell fehed
v‘neight yielding variety

a1 3ueT fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979

1 Jers, 1979
2) 1 July,1979

1 3elts, 1978
3) 1 June ,1979
1 51,1979

4) ne of these
RIS

Deepak kumar
tanti

Roll no.- 497
Eco (hon)



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry

3T
2) Agriculture
- o

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & aror 39 1 R_Rfegdaa R

1) RBI
ARSI
W
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

Waminathan
UH.TH ETHIATST

4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2
1) Environmental protection
TR T &
2) Economic profitability
nfSewemergear

3) Social and economic equality
arAToR AR 3w FARTAr
4) Religious equality
enfie @Fdar

5)Green Revolution was started at
aﬁamﬁﬁagamgéaﬁ

1) 1963-64

2) #0567

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

eat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy
FY 7o Afa

SLAmBgimminge price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
Mping rural industries
AT 3N HT AP AT
3) increase production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 ager
3my and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) Availability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
MPP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1),@?

hael |
2) Il only

&ad I
3) Both

G|

4) None of these
I

11) When was the World Trade Organization established?

ﬁaaw@maﬁwaﬂmwg&%ﬂ?

mnuary 1995

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

HAT W § AFCHS ufdewger G|

2) The policy of liberalization in agriculture is adopted

Py AT Alfceh YA &
iIdies have been removed from the agricultural sector

FheT & afewdr #1 gerfar
4) All appropriate.
SUgFAHST|

13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.

aE3T & el
of goods.

T3t & fawa @
3) Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

freeNTEe |
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

w agricultural produce.
HY 3TSTRTThATHIIT|




2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁraﬁrmmgéeﬁ?

1) In 1913
1913 &
47

1947 &

3) In 1951
19513

4) In 1931
1931 &

16)Agriculture is not a part of marketing.

Y faqureraaRT &7 8

W agricultural produce.

H 39T H Thcd T

2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|

3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|

4) To bring agricultural produce to the market.
P 39T F AVSIASH T

17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)
e

2) Groundnut
FHaTRT

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with
AraifAs faaor gumel & A SISt g3 §

1) fair price shops

3T gou i
perative stores

HE-TgPRT 3R
3) super bazar
LI SREISIRY

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o [T fe=faf@d & @ @l & STAeTihdst dhd 72

1) Special Employment Program.

Y VSR FRIHA|
2) Population control.
KGRI NGRE

3) Development of Small and Rural Industries.




20) Disguised unemployed in the agricultural sector of India exists due to the

HR A NETTHATTOeoTs ISR HhPRUTHISGE

1) dependence of agriculture on monsoons
AT W HN AT AR

2) abolition of zamindari

STHIGRIB#H T

3) heavy pressure of population on land
A W STAEE F ARG

4 m
37 T I

21)Which type of unemployment is found India?
HRA # 5T R AT RS 918 ST 872

1) structural unemployment
HXIATHS SIS

2) al unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?

W‘a JhR FI SUSERT 915 SATr g2
Disguised unemployment.

JTBesl SRISTITRT|

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above

IRFT F J FS G
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
g HETAehr
4) All of them

B mmanalidl

24)Full form of HYV
HYV T qoT &9

1) high yielding variety
3+ 3TscAarer e
2) height yielding variety

.
gh yielding various.

3o Yerar faffeT|
4) Half yielding variety
3T 3997 faffiest

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



M
1 s, 1979
2) 1 July,1979
1 3elts, 1978
3) 1 June ,1979
1 31,1979

4) None of these

"



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry

EECI

Mgriculture

EaL]

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

\I)/BI
HRAIRGIas &

2) NABARD

TS
3) RRB

& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



HRA HegRd HIfd & oI ¢
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien
Feffae iR

9

M.S Swaminathan
TH.TH TATHIATdT

4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2
1) Environmental protection
TR T &
2) Economic profitability

snfderermerdedr
3) Social and economic equality
AT AR 3w FARTAr
4) igious equality
HHAAT

5)Green Revolution was started at
aﬁaﬂﬁﬁeﬁw
1) 1963-64

2) 1966-67
3) 1968-69

M 970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifts oy Fg vad a @ar?

1) #heat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP @l Bl B

Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
Hifsar qear Nfa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N T TIhrE LT
3) increase production
3caresT # gefr &Y
4) 4B of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 g
3) availability and accessibility of food to all at all times

atmaﬂaaaﬁrmmaﬂ?qgﬂ

vailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right

fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 3603T ThamEl Al IR & 3caiigd 3o AT & ot & fow aRda & gl

1) | only
hael |

2) Il only
&ad I

3) Both
G|

4) ne of these

11) When was the World Trade Organization established?

ﬁeaw@mﬁxwwg@aﬁ?

1’1 January 1995

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT W ¥ AFCHS Jideeger Gamg|
2) The policy of liberalization in agriculture is adopted
ST A SERIAIOT AT Afceh =TT §
3) Subsidies have been removed from the agricultural sector
& GreEd # g
4All appropriate.
SUgFAHST|

13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT F FA F
2) sale of goods.

eI & fowa @ B
\fﬁaoth 1 AND 2
gt 1 AND 2 gl
4) NONE OF THEM
R feTEie |
14) Which of the following tasks is not included under agricultural marketing?

FY & edetd [AIfaf@d & @ &9 - geRaFafaa T8 1

c

Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁ@r@mﬂﬁt@mﬁﬁr@rwg‘géﬁ?

1) In 1913
1913 &
2) In 1947
1947 #

y 1951
1951H
4) In 1931
1931 #
16)Agriculture is not a part of marketing.
HY faqurersaier @7 g

1)fIntegrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi
e

2 roundnut
B

3) Jowar
AR

4) Sugarcane
ElCG|l

18) Public Distribution system is associated with
HdSHfereh FaeRoT Jomel & & ST g3 ¥
1) fair price shops
3 Hoa B g

2) Co-Cooperative stores

TE-HEPRT SR

ysuper bazar

JUIETSTR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1) Special Employment Program.

Y TSR i |
y Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.
oY Td AT SeFarehl A |
4) All of the above.
I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land

A W STEEAT HT ARG
Mofthem
3 @Y &t

21)Which type of unemployment is found India?
Rd H g IR T SRISEIRT 918 ST 87
1) structural unemployment
TAATCHS SRISTITRT
2) seasonal unemployment

HFaT SSEmRY

ysguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & P & H fhy TR & SASERT 91 S 872

Isguised unemployment.
JTBesl SRISTITRT|
2) Voluntary unemployment
wfeos aUSI
3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
g HETAehr

JAII of them

5) sARTsR!
24)Full form of HYV

HYV T qoT &9

%igh yielding variety

e IqeeAdTell fohed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979
1 Tg?»l‘l‘s’ 1979

2) 1 July,1979
1 3elts, 1978

3) 1 June ,1979
1 51,1979

We of these
< §§ 5



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

ARAT 3ricuaear & Jg &

1) Industry
3T
ure

EaL]

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & aror 39 1 R_Rfegdaa R

1) RBI

ARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



HRa HAeRa Hifd & ol
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

ﬁinathan

TH.TH T

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &

1) Environmental protection
TR T &

2) Economic profitability

cial and economic equality
arAToR AR 3w FARTAr
4) Religious equality

enfie @Fdar

5)Green Revolution was started at
FRAIPTENAg S

1) 1963-64

2) 1956-67

968-69
4) 1970-71

6) Which crop got the most benefit of GreenyRevolution?
g wifd &1 Taiftes o foha waer & &er?

1) Wheat



(9

2) Rice
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP

tural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsAr Hqex Afa

4) all of them
3o HT &Y

8) What are the measures to solve the problem of food security?

GIETGRETRHATITRIG cTehleich T UFITUIG ?

1) save food movement

ey JTelelsl &l a3y

4) all of these
T el

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 ageT
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) Availability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right

fAEAfaf@a T W TR & 3R F@@r i ggarT H

}' he APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |
2) Il only
Saer I

3) Bgth

4) None of these
I
11) When was the World Trade Organization established?
farea sl wareet 1 FuTeT 9 g8 o2

1) 1 January 1995
1 SeAaT, 1995

2) 10 October 1995
10 37eFga¥ 1995



3) December 12, 1995

12 feasy, 1995
4) 64Nay 1995

#1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
P 3 IaieoT T Afas o= §
3) Sybsidies have been removed from the agricultural sector
FReT O afewdr A gerfar
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

@Wﬁm&mﬁmmﬁamﬁ

1) order of objects.
gEI3T & HH T B
2 ale of goods.
eI & fowa @ B
3) Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

freeNTEe |
14) Which of the following tasks is not included under agricultural marketing?

Y fAuuEgh 3edia Aefaf@d & @ ®id - FekaFAfad 7@ g

1) gregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁrﬁxmgéeﬁ?

1) In 1913
1913 &
2) Ingh947
1947 &
3) In 1951
19513
4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrafihg agricultural produce.

PIY 39T T TleheTd el

2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|

3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|

4) To bring agricultural produce to the market.
P 39T F AVSIASH T

17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



Aagi

e

2) Groundnut
FHaTRT

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with
HdSHfereh FaeRoT Jomel & & ST g3 ¥

1) fair price shops
3T Hed & g
2) Co-Cogperative stores
- HSR
3) super bazar
JUIETSTR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1) Special Employment Program.

9w ISR FRwA|
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.
oY Td AT SeFarehl A |
4) All of the above.
I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

ssymheavy pressure of population on land
A W STAEEAT H ARG
4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
TIAATHS SRISTATRT

2) seagonal unemployment

SRISTERY

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
HRA & AT 7 fFg gpR i RSP 918 ST 87

isguised unemployment.
JTBesl SRISTITRT|
2) Voluntary unemployment
wftos SRemr
3) frictional unemployment

gfaRIemcHs SIS



4) None of the above

IRFT F J FS G
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

TG HETAT
4) All of them
9)

2 orm of HYV

HYV o1

1) yielding variety
T 3TSIGetdrell fehed

2) height yielding variety
a1 3ueT fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979

1 Jers, 1979
2) 1 July,1979

SeTs, 1978
) 1 June ,1979
1 51,1979

4) None of these

"



name sagar kumar.
FO|| no 8\[6EQBTERINTERNALEXAIVIINATION

SEM — VI(AGRICULTURE ECONOMICS)

S@Mc@erzoup B) TIME:45MIN

e Q@Oh@(l(‘)]?SCT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry

Agriculture

EaL]

c

3) Export
ot

4) Services
Jqare

2) Regulating body of rural Finance in India

AR A faa &1 fAfaads e
\}Z”
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



HRA HegRd HIfd & oI ¢
1) William gadd
foasd s

2) Norman E. Borlaug
AAT §. AT

.S Swaminathan

TH.TH TATHIATdT

4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2
1) Environmental protection
TR T &
2) Economic profitability

snfderermerdedr
3) Social and economic equality
3R 3nfde FAETETar
4) Meligious equality
enfie @Fdar

5)Green Revolution was started at

) 1966-67
3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifes o fora wae & e

1) AVheat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) develgping rural industries
3t T faehrE e
increase production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
HSTeT T ITersar AR TgT
ailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 3603T ThamEl Al IR & 3caiigd 3o AT & ot & fow aRda & gl

1) | only
hael |
2) Il only

4) None of these
I

11) When was the World Trade Organization established?

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?

ICECRZICIES o Fo0T & T H o1 yeueT fohar g2

antitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT F FA F
2) sale of goods.

FEA3Pe, fahT T £
oth 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



Ivision of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwﬂﬁtmmﬁﬁr@rwgézﬁ?

1) In 1913

1913 &
2) In 1947

1947 #
3) In 1951
19513
In 1931

4)

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
HY U7 1 gATONHROT|
3) of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)
e

2) Groundnut
T

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with

RICEIEED JOTTel & TIA SST g3 §

1 Ir price shops

3T Hed & g
2) Co-Cooperative stores

HE-HghNI HESR
3) super bazar

ST
4) None of the above

|

19) Which of the following can be used to overcome unemployment?
ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1) Special Employment Program.

Y TSR i |
2) Population control.
I FEIAIFoT|
DeveJopment of Small and Rural Industries.
Td AT ATt [aehrd |
Il of the above.

3WITFd T




20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

\/(pendence of agriculture on monsoons
AT W HN AT AR

2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG

4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployme
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
HRA & Ay 7 fFg gpR & RSP 918 ST 87

Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above

IRFT F J FS G
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

A gEIiadr
4) All of thkm

5) SIH

24)Full form of HYV

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979
1 E_lj?»lﬁ 1979
2) 1 July,1979
1 3elts, 1978
3) 1 June ,1979
1 51,1979
4) No these



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

AT 3rdeyaear i fg &

1) Industry

3T
® 2) Agriculture
FY

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

Py 1) RBI
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
@® 2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

4) M.S Swaminathan
TH.TH EHIA

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &

o 1) Environmental protection

TR T &

2) Economic profitability

snfderermerdedr
3) Social and economic equality
arAToR AR 3w FARTAr
4) Religious equality
enfie @Fdar

5)Green Revolution was started at
aﬁaﬂﬁﬁeﬁw

1) 1963-64

2) 1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifs o fora wae & @

® 1) Wheat



2) Rice
® didel
3) Tea
aT
4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy
FY 7o Afa

@ 2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
® 2) developing rural industries
AT 3N HT AP AT
3) increase production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
® ST B SYETeLTAT

2) accessibility of food
st 1 ageT

3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg

4) Availability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |

2) Il only
&ad I

3) Both
G|

4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

1) 1 January 1995

1 SeTadT, 1995
o 2) 10 October 1995
10 3@gaT 1995



3) December 12, 1995
12 feHeX, 1995

4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
® Y 7 IaioT T Afas o= §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT & FA I E
@ 2) sale of goods.
eI & fowa @ B
3) Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
o 3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁraﬁrwéeﬁ?

1) In 1913

1913 &

) 2) In 1947
1947 #

3) In 1951

19513

4) In 1931

1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
@ 2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1)

2)

3)

4)

Ragi
Tl

Groundnut
Harhelr
Jowar
AR
Sugarcane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

1)

2)

3)

fair price shops

3T Hed & g
Co-Cooperative stores
HE-HghNI HESR

super bazar

JUIETSTR

S

None of the above

SN

19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1)

2)

Special Employment Program.

9w ISR FRwA|

Population control.

I FEIAIFoT|

Development of Small and Rural Industries.
oY Td AT SeFarehl A |

All of the above.

I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG
4) all of them
® )
37 T I

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployment

® e SE N EI

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & Y &7 H e YR & AR 918 St 872

1) Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

TG HETAT
4) All of them

5) sARTsR!
24)Full form of HYV

HYV T qoT &9

1) high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1)

2)

1 July,1979
1 §§H§,1979
1 July,1979
1 3elts, 1978
1 June ,1979
1 51,1979

None of these

"



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

ARAT 3ricuaear & Jg &

1) Industry

ECCIY

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & aror a9 1 R_Rfegdaa R

) R
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



HRA HegRd HIfd & oI ¢

1) William

sreha, kumari
2138rollno
emb6eco hons

4) Which one of thgffollowing is not an element of sustainable agriculture?

"1.8036T019339

TR T &
2) Economic profitability
3nfiewemarvearn

3) Social and economic equality

gfaes 3R s ga=ar

Q 4) Religiow equality
HHAAT

5)Green Revolution was started at
Wﬁﬁ?ﬁw
1) 1963-64

2) 1966-67
3) 1968-69

&) 850-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

1) Wheat




2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

Agri price policy
FY 7o A

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o HT &Y

8) What are the measures to solve the problem of food security?

GIETGRETRHATITRIG cTehleich T UFITUIG ?
1) save food movement
ey JTelelel &l a3y
2) developing rural industries
AT 3N T TIhrE LT

3) increase production

3culesT # gefr Y

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 ageT
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) Availahjlity, accessibility, affordability of food to all at the times.
AT STl Y 3TIstdT, 9gd, AHL|

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 3eeRT fhdmEl T AT Hed Ferel A gl

ii)aimsMcing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
el |
2) Il only
&ad I

4) None of these
I
11) When was the World Trade Organization established?

%aawmmﬁxmmwgéaﬂ?

%uary 1995

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT W ¥ AFCHS Jideeger Gamg|
2) The policy of liberalization in agriculture is adopted
ST A SERIAIOT AT Afceh =TT §
3) Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|

13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TE3T F FH A
2) sale of goods.

eI & fowa @ B
Both 1 AND 2
%ND 2 gl
4) NONE OF THEM
R feTEie |
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwwﬁﬁraﬁrwéeﬁ?

1) In 1913
1913 &

In 194
g’
3) In 1951

1951#H

4) In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi
e

2) Groundnut
FHaTRT

3) Jowar
AR

4) Sugarcane

ElCG|l

18) Public Distribution system is associated with
HdSHfereh FaeRoT Jomel & & ST g3 ¥
1) fair price shops
3 Hoa B g
Co-Cogperative stores
HE-TghRT 3R
3) super bazar
W EGR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o [T fe=faf@d & @ @l & STAeTihdst dhd 72

1) Special Employment Program.

9w ISR FRwA|
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.

oY Td AT SeFarehl A |

4) All of the above.
MI



20) Disguised unemployed in the agricultural sector of India exists due to the

HhPRUTHISGE
dence of agriculture on monsoons

W H HT fsear

2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W STAEEAT H ARG

4) all of them
3o T

21)Which type of unemployment is found India?
HRA # 5T R AT RS 918 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployment
HFAT SOy

3) Disguise unemployment.

Hehrd SIS |

4 Algfsammbove
SRAFAHHT

22)What type of unemployment is found in agriculture sector of India?
AR & Y &7 H e YR & AR 918 St 872

1) Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



Meabove

IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

Wu bsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
g HETAehr
4) All of them

5) sARTsR!
24)Full form of HYV
HYV T qoT &9

1) high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a1 3ueT fohes

Wlding various.

3o YR faffesT|

4) Half yielding variety
e 39S fafdesT

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979
1 s, 1979

2) 1 July,1979
1 3elts, 1978

3) 1 Juge1979
1 31,1979

4) None of these

"



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is
AR Fegaear i g §

1) Industry
3T

®» Agriculture
Y

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

9 RBI
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

4P M.S Swaminathan
UA.TH EOHATYS

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &
1) Environmental protection
TR T &

2) Economic profitability

snfderermerdedr
3) Social and economic equality
arAToR AR 3w FARTAr
4) Religious equality
enfie @Fdar

5)Green Revolution was started at
aﬁaﬂﬁﬁeﬁw

1) 1963-64

2 1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?
gRa wifa &1 aaifs o fora wae & @

ﬂ Wheat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

@) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N T TIhrE LT
'3) increase production
3cuieed # gefTr &l
4) all of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
4) Availability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |
2) Il only
&ad I
® 3) Both
G|

4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

®1) 1 January 1995
1 SheTadl, 1995

2) 10 October 1995
10 3rRgaX 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT WX & AFCHS Sfaauger amg|

2) The policy of liberalization in agriculture is adopted
Y 7 IaioT T Afas o= §
3‘ Subsidies have been removed from the agricultural sector
FeT ¥ afewsr #r g
4) All appropriate.
SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT & FA I E

2) sale of goods.
eI & fowa @ B

@) Both 1 AND 2
gt 1 AND 2 gl

4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



@) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁqmwrﬂﬁwmﬁﬁrﬁxmgéeﬁ?

1) In 1913
1913 &
2) In 1947
1947 &
3) In 1951
19518
® In 1931
1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1)p Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi
e

2) Groundnut
FHaTRT

3) Jowar
AR

4‘ Sugarcane

ElCG|l

18) Public Distribution system is associated with
HdSHfereh FaeRoT Jomel & & ST g3 ¥
1 fair price shops
3 Hoa B g
2) Co-Cooperative stores
HE-TgPRT 3R
3) super bazar
W EGR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1) Special Employment Program.

9w ISR FRwA|
® Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.
oY Td AT SeFarehl A |
4) All of the above.
I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR T N TAT BT s T hehRUTHISIEE

19 dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) heavy pressure of population on land
A W TAHEIT T ARG

4) all of them
3o T

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

2) seasonal unemployment
AT STy

3’ Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & $Y &F # fhy g & aUSaT a8 Sl 87

1) Disguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



@) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

g ggridehr
@4) All of them

5) sARTsR!
24)Full form of HYV

HYV T qoT &9

® high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979

1 Jers, 1979
2) 1 July,1979

1 3elts, 1978
$) 1 June ,1979
1 51,1979

4) None of these

"

Diksha singh
roll - 225
part B .



Name avikash..

K MID SEMESTER INTERNAL EXAMINATION
u VI(AGRICULTURE ECONOMICS)

"RO1E368 B

T v o erouowme
780361019345

s |culture

(.

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

1) RBI
ARSI
2) _NEBARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

TR

9

MSwaminathan

TH.TH EEHEIA
4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2

1) Environmental protection
TR T &

2) Economic profitability
Jnfiewamergear

3) Social and economic equality

AT AR e AT
) Religious equality

enfie @Fdar
5)Green Revolution was started at
AGEAIRCARREIC S]]
1) 1963-64

a2 F966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

1) Wheat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Aggfultural price policy
Py e aifa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N HT AP AT
3) increase production
3cuieed # Jefdr &l
of these

I g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm

2) accessibility of food
st i vga

3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg

Mbility, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |
2) Il only
&ad I

=

arer
4) None of these
I
11) When was the World Trade Organization established?

ﬁaaw@maﬁwaﬂmwg&%ﬂ?

Aanuary 1995

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT W ¥ AFCHS Jideeger Gamg|
2) The policy of liberalization in agriculture is adopted
ST A SERIAIOT AT Afceh =TT §
3) Subsidies have been removed from the agricultural sector

FRET ¥ TRED F geriar T

4) ’ appropriate.

SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
aEG3T & HA A B
2) sale of goods.
FEI3T & fang 4 gl
3 oth 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.

P a3t @1 fFemmsr|

ye study of agricultural commodities.
Y aEI3T F1 fFezrT=|

C

4) neither of the above.
3WeFd H ¥ g el
15) The first Government Marketing Committee was established in India?

Wﬁmw@ﬁtmmﬁﬁraﬁrmmgéaﬁ?

1) In 1913
1913 &

2) In 1947
1947 #

3) In 1951
19513
1931

1931 &

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |
2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
4) To bring agricultural produce to the market.

P 39T F AVSIASH T
17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi
e

2) Groundnut
HIThell

3) Jowar
AR

Wane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

Wice shops
3T Hed & g
2) Co-Cooperative stores
HE-HghNI HESR
3) super bazar
JUIETSTR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o [T fe=faf@d & @ @l & STAeTihdst dhd 72

1) Special Employment Program.

9w ISR FRwA|
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.

oY Td AT SeFarehl A |

y)f the above.
3RIFd G|



20) Disguised unemployed in the agricultural sector of India exists due to the

HR A NETTHATTOeoTs ISR HhPRUTHISGE

(5

1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari

SFHERIBe T

a

3) vy pressure of population on land
HA W ATEEIT T HRIGSTT

4) all of them
37 T I

21)Which type of unemployment is found India?
HRA # 5T R AT RS 918 ST 872

1) structural unemployment
HIATHS SIS
2) seasonal unemployment
HFAT SOy
3) Disguise unemployment.
RIS
4)4All of the above

ERRIETRE )
22)What type of unemployment is found in agriculture sector of India?

AR & $Y &F # fhy g & aUSaT a8 Sl 87

Msguised unemployment.

JTBesl SRISTITRT|

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above

IRFT F J FS G
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy
G FETiAhT
«a Al of them
5) sARTsR!

24)Full form of HYV

HYV T qoT &9

M yielding variety
31T 39sIcAarer fohedA

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) ﬂuly,1979

1 Jas, 1979
2) 1 July,1979
1 3elts, 1978
3) 1 June ,1979
1 37,1979

4) None of these

"



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

AT 3rdeyaear i fg &

1) Industry

Jgiﬁture

EaL]

c

3) Export
ot

4) Services
Jard
2) Regulating body of rural Finance in India

AT & aror 39 1 R_Rfegdaa R

1) RBI

\ZEﬁBARD

TS
3) RRB

& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



AR AR Fifd & ST &
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien

9

.S Swaminathan

TH.TH EEHEIA
4) Which one of the following is not an element of sustainable agriculture?
AT & @ Sl FuRoia F &1 dca 7@ 2

1) Environmental protection
TR T &
2) Economic profitability

3nfdwameTvear

3) Social and economic equality

gfas 3R s ga@=ar

ﬁeligious equality

enfie @Fdar
5)Green Revolution was started at
RGEIREINREIREER]]

1) 1963-64

M 966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa Fifa &1 gaifas o Fg vad # @ar?

Mheat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP

APPa:rgs—orqv“ﬁfr

%gricultural price policy

FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

4) all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N HT AP AT
3) increase production

3cutesT # gefr Y

M of these
I g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 ageT
3) availability and accessibility of food to all at all times
& THY SISl T Sueetid AR gg
vailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36T fhamEl @l a6k & Icuiied 3% Y & o & fav 9Ra &= gl

1) | only
hael |
2) Il only

1
Both

G|
4) None of these
I
11) When was the World Trade Organization established?
faRg AR Faree & FUT9AT F g A7

January 1995

1 SeAaT, 1995
2) 10 October 1995
10 37eFga¥ 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT W ¥ AFCHS Jideeger Gamg|
2) The policy of liberalization in agriculture is adopted
ST A SERIAIOT AT Afceh =TT §
3) Subsidies have been removed from the agricultural sector

FRET ¥ TRED F gerar T

Mappropriate.
SUgFAHST|

13) Agricultural marketing refers to the produce produced by farmers
S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
aEG3T & HA A B
2) sale of goods.
TE3T & foma @ B
3% Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
aEG3T T AT |
he study of agricultural commodities.
S a3 T g
4) neither of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁmw@ﬁtmmﬁﬁraﬁrmmgéaﬁ?

1) In 1913
1913 &
2) In 1947
1947 #
3) In 1951
19513

\M1931

1931 #
16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

Y 3UST & TleheTT |

2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|

3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|

Mring agricultural produce to the market.

asfﬁrma#méiﬁqgmml

C

17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi
e

2) Groundnut
el

N

3) Jowar

vdX

warcane

ElCG|l

18) Public Distribution system is associated with

Hrdefeieh FaROT JUTeN & WY 3T g3 &

Wir price shops
3T Hed & g
2) Co-Cooperative stores
HE-HghNI HESR
3) super bazar
JUIETSTR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o [T fe=faf@d & @ @l & STAeTihdst dhd 72

1) Special Employment Program.

9w ISR FRwA|
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.

oY Td AT SeFarehl A |

wof the above.

3WITFd T



20) Disguised unemployed in the agricultural sector of India exists due to the

HRAhh N THT TR oI hehRUTHISIEE
1) dependence of agriculture on monsoons
AT W HN AT AR
2) abolition of zamindari
SLIHNE CO)
Wheavy pressure of population on land
HA W ATEEIT T HRIGSTT
4) all of them
37 T I

21)Which type of unemployment is found India?
IR #H g R fir RSP 915 Sy §72
1) structural unemployment
TIAATCHS SRISTATRT
2) seasonal unemployment

HFaT SSEmRY

3) Disguise unemployment.

SO
of the above

ERRIETRE )
22)What type of unemployment is found in agriculture sector of India?

AR & $Y &F # fhy g & aUSaT a8 Sl 87

wuised unemployment.

JTBesl SRISTITRT|

2) Voluntary unemployment
wftos SRemr

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above

IRFT F J FS G
23)ldentify the agricultural subsidy in India
RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

3) Credit subsidy

A FEIfder
All of them

5) sARTsR!
24)Full form of HYV

HYV &7 qdp&T

high yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a1 3ueT fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



\)/Huly,1979

1 Jers, 1979
2) 1 July,1979

1 3elts, 1978
3) 1 June ,1979
1 51,1979

4) None of these

"

Ajay kumar
roll-318
sem-6



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM — VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is M d M O h S i n Ra Z a

AT 3rdeyaear i fg &

Y s Ansari

ELRICl)

ot roll 348 eco hon's

3) Export

P sem 6

4) Services
Jard
2) Regulating body of rural Finance in India

AT & JrEor 39 &1 R_fegaa @

A
ARSI
2) NABARD
TS
3) RRB
& AT d%
4) Cooperative bank

TEHER I

3) Father of green revolution in India:



HRA HegRd HIfd & oI ¢
1) William gadd
fafors s
2) Norman E. Borlaug
AAT §. AT
3) Verghese Kurien
Feffap R

\ﬁl S Swaminathan

4) Which one of the following is not an element of sustainable agriculture?
T & O Fl FURONY HT F7 dea 6T &
1) Environmental protection
TR T &

2) Economic profitability

3nfsremsTvear

3) Social and economic equality

gfaes 3R s ga=ar

\Meligious equality

e gaar

5)Green Revolution was started at

1/1963-64
2) 1966-67
3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa wifa &1 gaives a7 59 vaa & Aor?
Mheat



2) Zie
Iidel

3) Tea
aT

4) Oilseeds

IGEED]

7)Full form of APP
APP T PoT Hie

1) Agricultural price policy
FY 7o Afa

2) agriculture price program
FV 7o FTH

3) audio price policy
HifsA Ao Afa

g7 all of them
3o g

8) What are the measures to solve the problem of food security?

I GRETThHATITRIG oTeh{athi VAT UG ?

1) save food movement
Ged igielel I TaTHT
2) developing rural industries
AT 3N T TIhrE LT
3) increase production
3cuieed # gefTr &l
fyall of these
T g

9) What does food security means?

Qg GR&Tehl T Hclold g7



1) availability of food
STl Y ITcTsHdm
2) accessibility of food
st 1 age
3) availability and accessibility of food to all at all times
& THY SISl T STeetrd IR gg
\4Mvailability, accessibility, affordability of food to all at the times.
& THY HIST HT ITeUd, Tgd, ALY

10) Consider the following statement and identify the right
fArafaf@a o W TR & 3R F@@r T ggarT H
1.The APP aims at providing assured price to the farmers.

T T 36eRT fhdmEil 1 AT Hed Ferel A gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 3603T ThamEl Al IR & 3caiigd 3o AT & ot & fow aRda & gl

1) | only
hael |
2) Il only
&ad I

WBoth

aer
4) None of these
I
11) When was the World Trade Organization established?

ﬁeaw@mﬁxwwg@aﬁ?

\1% January 1995

1 SeAaT, 1995
2) 10 October 1995
10 g 1995



3) December 12, 1995

12 feasr, 1995
4) 6 May 1995
6 #AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faeg TR Gereet & v & T A Far geee fhar g2

1) Quantitative restrictions on imports have been removed.

AT W ¥ AFCHS Jideeger Gamg|
2) The policy of liberalization in agriculture is adopted
ST A SERIAIOT AT Afceh =TT §
3) Subsidies have been removed from the agricultural sector

FRET ¥ TRED F geriar T

\4))” appropriate.

SUgFAHST|
13) Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT YR GaART cqTied 3Tl

1) order of objects.
TEGHT & FA I E
2) sale of goods.
eI & fowa @ B
Both 1 AND 2

2l 1 AND 2 &1
4) NONE OF THEM

[ETIREICR!
14) Which of the following tasks is not included under agricultural marketing?

Y fauoe & i Aefaf@d & @ @i - FeRaFEAfad 7@ g

1) Aggregation of agricultural produce.

agﬁr 3YSThIUeh TehI0T |



2) Division of agricultural commodities.
HN qEI3T 1 fFeTsieT |
3) The study of agricultural commodities.
S a3 T g
\4y1either of the above.
IRFT F T A AGT|
15) The first Government Marketing Committee was established in India?

Wﬁ@r@mﬂﬁt@mﬁﬁr@rwg‘géﬁ?

1) In 1913
1913 &
2) In 1947
1947 #
3) In 1951
19513

UoAn 1931
1931 3

16)Agriculture is not a part of marketing.
HY fagurersaier @7 g

1) Integrating agricultural produce.

H 39T H Thcd T

2) Certification of agricultural produce.
FY 3ueT 1 FATONHROT|
3) Use of good quality food by the farmers.
TS [hEHeS WiedTeall & HVh! GarT 39|
\4yfo bring agricultural produce to the market.
P 39T F AVSIASH T

17)Which one of the following crops is not cultivated under dry land farming ?

fAefaf@d & & fhe Bae & Well Yo A T Wl & Tecl 181 I STl 872



1) Ragi
et

2) Groundnut
Harhelr

3) Jowar
AR

&)y Sugarcane

ElCG|l

18) Public Distribution system is associated with
HdSHfereh FaeRoT Jomel & & ST g3 ¥
yair price shops
3 Hoa B g
2) Co-Cooperative stores
HE-TgPRT 3R
3) super bazar
W EGR

S

4) None of the above
R
19) Which of the following can be used to overcome unemployment?

ISR ¥ el o fov fe=faf@d & & @l & suzerihdsT dod §7?

1) Special Employment Program.

Y TSR i |
2) Population control.
I FEIAIFoT|
3) Development of Small and Rural Industries.
oY Td AT SeFarehl A |
.A/AII of the above.
I HeiT|



20) Disguised unemployed in the agricultural sector of India exists due to the

HRAhh N THT TR oI hehRUTHISIEE
1) dependence of agriculture on monsoons
AT W HN AT AR

2) abolition of zamindari

3) heavy pressure of population on land

21)Which type of unemployment is found India?
RT & g gpR I RIS g5 ST 872

1) structural unemployment
HIATHS SIS

g%easonal unemployment
AT STy

3) Disguise unemployment.
$CehTd SRISTITRT |

4) All of the above
IqFIEH

22)What type of unemployment is found in agriculture sector of India?
AR & $Y &F # fhy g & aUSaT a8 Sl 87

\1yDisguised unemployment.
JTBesl SRISTITRT|

2) Voluntary unemployment
wfeos aUSI

3) frictional unemployment

gfaRIemcHs SIS



4) None of the above
IRFT H T FIS g1
23)ldentify the agricultural subsidy in India

RS & Y FgIiAhr T qgare &

1) fertilizer subsidy

3T TETahr
2) seed subsidy

CIS R EIRE)

e 3) Credit subsidy
g HETAehr

A of them
5) sARTsR!

24)Full form of HYV

HYV T qoT &9

\1)j]igh yielding variety
e 3TSIGetdrell fehed

2) height yielding variety
a8 3997 fohes

3) High yielding various.
3o YR faffesT|

4) Half yielding variety
e 3957 e

25) Inwhich year Public Distribution system started in India?

AR # fhe 9§ ardeifars faaRor yomelr Y e T g5?



1) 1 July,1979
1 Tg?»l‘lé 1979

2) 1 July,1979
1 3elts, 1978

3) 1 June ,1979
1 51,1979

\Mone of these
NN



GURU NANAK COLLEGE , DHANBAD
MID SEMESTER INTERNAL EXAMINATION
SEM - VI(AGRICULTURE ECONOMICS)
SUB: CC XV( GROUP B) TIME:45MIN

CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1) The backbone of Indian economy is

TR 3regaear $r i &

1) Industry

ﬁlure Name - Sonu kr sharma
Fiy Roll no-389
3) Export Uni roll no- 341

[GEIG]

4) Services
dard
2) Regulating body of rural Finance in India

AT H arAoT 39 &1 _RfFaraa R

1) RBI

V NABARD

GICIC]
3) RRB

& AT d
4) Cooperative bank

HEHRT deh

3) Father of green revolution in India:



HRT AR Hifd & Sfeish §
1) William gadd
=z
Norman E. Borlaug
Ate &, ARt
3) Verghese Kurien
aeffasRae

e ]

4) M.S Swaminathan
UA.UH E&HATYA

4) Which one of the following is not an element of sustainable agriculture?
forst & & Fla Furof FRY #1 aca 7@ B
1) Environmental protection
qTaROT AT

2) Economic profitability

3faremervedr

3) Social and economic equality

grfoe 3R s gaear
Weligious equality
e qHar

5)Green Revolution was started at
sRawTahRRamTEsh
1) 1963-64
1966-67

3) 1968-69
4) 1970-71

6) Which crop got the most benefit of Green Revolution?

gRa ifa &1 gaas o 7y sad & Aar?

M\!heat



2) “I;Ece
CIGE]

3) Tea
arg

4) Oilseeds

Rrerget

7)Full form of APP
APP T %ol Hie

1) Agricultural price policy
FN o M

2) agriculture price program

N HoT FTaHA

3) audio price policy
3ifEar Hea Afa

MI of them
37 Y &

8) What are the measures to solve the problem of food security?

¥

Greagy

1) save food movement
@ed el Hr Farsi

2) developing rural industries
FTHAOT IEANEAT FT AHTE FHAT

3) increase production

# gefa wY
V all of these

I gl
9) What does food security means?

"I GI&Th! FIT HAdeld &7



1) availability of food
ST I ITTeHdr

2) accessibility of food
HISTeT T qg?.r

3) availability and accessibility of food to all at all times
B THY HIsTel HiT It AR g

WAvaiIability, accessibility, affordability of food to all at the times.

B HY HIsTel T ST, Tgd, WAL

10) Consider the following statement and identify the right
fArafaf@d Fous o e F 3 G Hr gga H
1.The APP aims at providing assured price to the farmers.
Ty & 3eged fhurEl A giafRad qea vee e g
i) It aims at inducing farmers to bring in their surplus produced to the market.

$HH 36aeT fham! @ aoR & Ieuifed 3o HUAT 7 ot & o INa wwr gl

1) | only
&ad |
2) 1l only
Fae I

V Both

CAG]
4) None of these
TR
11) When was the World Trade Organization established?

ﬁ?ammwaﬁrwaﬁgéaﬁ?

Vlanuary 1995

1 Se1adl, 1995
2) 10 October 1995
10 3ergaX 1995



3) December 12, 1995

12 fedsT, 1995
4) 6 May 1995
6 AS1995

12) What has the World Trade Organization managed in the field of agriculture?
faea R Haree A F0T & T A v geue far g2

1) Quantitative restrictions on imports have been removed.

HATT W { ArcAS gfdeeger A
2) The policy of liberalization in agriculture is adopted
F A 3gERoT H1 A roamr §
3) Subsidies have been removed from the agricultural sector

FRET & wiewd # gerrar Ty

W All appropriate.

SUGFIHHT |
13) Agricultural marketing refers to the produce produced by farmers
H fAUUTT & I Fh! GaRT Icurfed ITsteh

1) order of objects.

eI F FH A L

Vsaie of goods.
TGt & fawa ¥ 2

3) Both 1 AND 2
gt 1 AND 2 &

4) NONE OF THEM
e N=EiR |

14) Which of the following tasks is not included under agricultural marketing?
Y fauoe & eadia Pefaf@a & @ #ia - aedafEafaa @8 8

yAggregation of agricultural produce.
F ITSTRTHARIT|



2) Division of agricultural commodities.
F TEGHT T TITT|

3) The study of agricultural commodities.
S TEGIHT HT feTg|

4) neither of the above.

IREFT H A P A4

15) The first Government Marketing Committee was established in India?

aﬂmﬁmmrﬂﬁwmﬁﬁrﬁﬁmgéeﬁ?

1) In 1913
1913 &
2) In 1947
1947 &

Mn 1951

19513
4) In 1931
1931 3

16)Agriculture is not a part of marketing.
i fauorera3ieT @7 g
1) Integrating agricultural produce.
F 3YS HI Tfhead HEAT|
2) Certification of agricultural produce.
F U FT FATONHIOT|
3) Use of good quality food by the farmers.
IS fohEds @iehlewl & H¥h! GaRT 39|
To bring agricultural produce to the market.

N 3T FI AVSIAH TgATT|
17)Which one of the following crops is not cultivated under dry land farming ?

ferafaf@a & & fha wae & Welr o A T Wl & Ted 1 I STt §72



%agi

el

2) Groundnut
FIThol

3) Jowar
Tdl{

4) Sugarcane
oo

18) Public Distribution system is associated with
HESH o faeRor omel & WY 3T g3 ¢

1) fair price shops

3fa Hea & g
Co-Cooperative stores
HE-HghNT SR

3) super bazar

USSR

4) None of the above

IYANFAHARISAGT

19) Which of the following can be used to overcome unemployment?

RIS 6T F & AT PeArld & & @ & seafeder ahd §2

1) Special Employment Program.
Ry ISR FRHA |

2) Population control.
JA HEIIAITT|

3) Development of Small and Rural Industries.
oY U JTHT ST AR |
All of the above.
ERNESEREN



20) Disguised unemployed in the agricultural sector of India exists due to the

HR A R TAT BTSN HHRUTHISGE
1) dependence of agriculture on monsoons
AT O Y T foysiar
2) abolition of zamindari
3) heavy pressure of population on land
A T SAFEAT HT ARG
all of them

3o | &
21)Which type of unemployment is found India?
9T H forg gt &Y SIS 918 STt 87

1) structural unemployment
HLAATCHS AT

2) seasonal unemployment
Higar sOsremy

3) Disguise unemployment.

Hewrd SIS |

\?/AII of the above
SWRIFTEHT

22)What type of unemployment is found in agriculture sector of India?

HRA & PV &1 A fFg g i asemd a8 S 82

V)isguised unemployment.

JeBeed ST |

2) Voluntary unemployment
wfeos N

3) frictional unemployment

gfattncas Ssamy



4) None of the above

IRFT H & Pls gl
23)ldentify the agricultural subsidy in India
RS # Y FIfdhr i qgard &Y

1) fertilizer subsidy

ECICoRIEED)
2) seed subsidy

frsragTiaehT

3) Credit subsidy

RIEED)
All of them

5) sAATNH

24)Full form of HYV
HYV & Qo7 &9

high yielding variety
HiF IusreAdren frer

2) height yielding variety
Fa$ 3us A

3) High yielding various.
Fed Yerar fafdiesT|

4) Half yielding variety
e 3us fafdest

25) Inwhich year Public Distribution system started in India?

AR 7 fohe a¥ Frdsifaeh fAawor goumel &1 % 31 §97?



1) 1 July,1979

1 SeTs, 1979

2) 1 July,1979
1 gerg, 1978

«)1 June ,1979
1 53,1979

4) None of these

v



